Soww‘q ?Ezcem— 1= QUATI&SNS %ﬁ [ ganSLAT NG

Ly Taue Percent LS ougtiow

2 B Missing PaeT

= Eﬁ.‘.x WWA‘T \'S \Dolc OF 5pb 7
@ oL Ly L

a 19 = . x bBo
~
:; ovs)l What 1S 20 oF BAS7?
gs = v vl PR
. ) N\ = .z % B
ey .\ ws 7 |
e NN Missing Base
E/{‘\a ® 1S 5%- or Weat NomBER 7
0 R o
‘ __'&_, = OB x A

] 0.05 T ol

..i‘ s b = ‘/\

D o) 2 S 5%, o= WHRAT MNUMRER 7
~—— //——'

v v ¥ v NE

. 1z = x5  x A%

A S -

; R Bo = wn

e~ n =80




N\\s sy d‘c‘ ",/ o

3 = LWRAT CeRcenT oF 29 2
1 ¢ NV v n
i A, X 26"
28 28
0.25 = n Y.

\
20 1S WOHAT PeecanT o LOO 7
1 U (/ & &
2o = LWL X beo
i - (e
ans - l/\-’ )

AR




